
         

 

Varianta  70 
                                                                                                                               

 
 13.  a)    Cum  8 3 2 2= ⋅ +  deci a 8-a zecimal

�
 este 5. 

        b)    Cum  2007 3 669 0= ⋅ +  deci a 2007-a zecimal
�
 este 9. 

 14.  a)   2( 4) 12 4 12 0 ( 6)( 2) 0x x x x x⋅ + = ⇔ + − = ⇔ + − = ⇔  { }6;2x∈ − . 

  b) ( ) ( 3)( 3)E a a a a= − + ⋅ ∈Z , oricare ar fi a ∈Z * . 

  c) 
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 15.  b)   
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⋅ ⋅ ⋅= ⇒ = ⇒ = cm. 

        c) 
24 3 6

48 3
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V
⋅= = cm 3 . 

   d)  Fie { }.OC BD M∩ =  Cum ),(ABCVO ⊥  ,BDOM ⊥  ., BDVMABCBDOM ⊥⇒⊂  

       Unghiul format de )(VBD  cu )(ABC  este unghiul VMO. .
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